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QUESTION 1

When considering an HA FC environment, a Single Point of Failure (SPOF) between the storage and the server is:
A. acceptable when a loop device is connected to dual ports in the fabric.

B. not acceptable within either fabric.

C. acceptable when the same name server is installed on all switches.

D. not acceptable unless each fabric has a different SPOF.

Correct Answer: B

QUESTION 2

A technician is working with a storage array that has 15 total slots for hard drives. The technician is tasked with
configuring two separate RAID 5 volumes of the same size, sharing a global hot spare. 1TB drives are the largest
available for this model storage array. Using the 1TB drives, which of the following is the LARGEST raw volume size
attainable?

A.6TB

B.7TB

C.757TB

D.8TB

Correct Answer: A

QUESTION 3

A fibre channel fabric needs to be portioned into smaller subsets to restrict actual communication throughout a fabric
and must work on fibre channel level 2. Which of the following implementations must be physically setup to satisfy these
requirements?

A. Hard Zoning

B. Soft Zoning

C. E-port Replication

D. LUN Masking

Correct Answer: A

QUESTION 4
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Which of the following is an advantage of an iSCSI SAN over a FC SAN?
A. Higher performance

B. Higher scalability

C. Lower latency

D. Lower implementation costs

Correct Answer: D

QUESTION 5

A server administrator reports a lot of SCSI transport errors and retries on one server. Which of the following methods,
on the Fibre Channel switch, would display these errors?

A. Review the Zoning for the server.

B. Run nscamshow show for the server port.
C. Review the Port Error counters.

D. Send fcping the server port.

Correct Answer: C
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